i)Y zaliad) 2840 (1o alad) J2a Jiasd a3

i) zgie (pmgail] GlxioY) dlinl J>

Calod) = ) Jil) = b = paitell pae (S Call < dil LY zaliad) o zaliall 284e

16:00:03 2024-07-09 : zalioll 28 calod) délo) Zo i

paiiad] yac LW Chall Crisy e laixd] ol

ol ) o aall) i 23 dall de M) du il

asiad) Jluedl Zzay SN ‘ -
Bslls (5 5SII (glgill HlxinY) alef p



https://almanahj.com/ae/id=26467
https://almanahj.com/ae/15physics3
https://almanahj.com/ae/15physics
https://almanahj.com/ae/15
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-07-09
https://www.facebook.com/groups/grade15uae
https://www.facebook.com/grade15uae
https://almanahj.com/s/3771d1
https://t.me/almanahj_bot
https://almanahj.com/ae/network15
https://bit.ly/3cm089z
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=26241
https://almanahj.com/ae/id=26234
https://almanahj.com/ae/id=25866
https://almanahj.com/ae/id=25615
https://almanahj.com/ae/id=25593
http://www.tcpdf.org

Q.1: Inductance Unit Mark(s): 4/4

Which of the following is not a unit for inductance?

feual) Jalaa @l g 3 gl (Al Laa gl

Use the following constants and formulas when required / sk W &1 &Ydal ;<o) 252l

f, = 47107 Tm/A

at ot
Avr ._.__”dB ﬂnnnﬂdAL:,!ﬂHniﬂﬂ fL‘E i dq)B
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Q.2: Faraday’s Experiments Mark(s): 4/4

3 b /| Inthe shown figure, moving a magnet towards the wire loop induces a
U N '
/A | current o flow in the loop.
) A 24 What s the direction of the induced current in the left segment of the
Sk
) oo A
L ol i &y gl S
FU o o p ol ) ol o )
Learning Outcomes Covered
o PHY.6.2.02.012
ah
E From point b to peint 2 a kil A b kil (e
b.
From point  to point b b dad N a dakid e
C.
Perpendicular to the plane of the loop Aalall (o g o (5350
d.

Can be in any direction sladil (sf (B QusSa O QS




Q.3: Single-loop circuit with a resistor and a source of time-varying emf Mark(s): 4/4

W Anclectromotive source Ve, =240sin(60t), is connected
R to a resistance R= 6,00, 45 shown in the figure.
Which of the following represents the equation of the current through
the resistor?
‘@ R= 600 Ly 1, =D40sinB0F) bl o S
U P oL “ bt .‘
$.BIPhysics/G12 advanced %‘JM1 Ja ‘w U du‘l @w v “‘*51

Use the following constants and formulas when required / » % ba 4 c¥dad ycul sl

| it e XY T A |
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o PHY.6.2.02.020

ip =240sin(60t)

. i
ip =240sin(60t + E)

|
ir =40sin(60t —-)




Q.4: Induced Potential Difference Mark(s): 4/4

When can we use the near equation to find the induced potential difference?

a8
dt

Avmduced =- A COSH

i) gl Y ol Al iy
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A, and B are constant S By A




Q.5: Lenz’'s Law Mark(s): 4/4

Which of the following diagrams is correct according to Lenz’s Law?
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Q.6: Time dependence of the current flowing through an RL circuit Mark(s): 4/4

Acircuit contains a battery that supplies V., - an inductor

with L =2.40 H, a resistor with R=120.0 ., and a switch,
connected as shown in the figure. The switch is closed at time t= 0,

i the current {=0.112 A at time t = 0,012 5.
® a What s the potential difference of the battery V,, ”
g

R=12000

i
switch
2.4

I L= 240 H o o Loyl gl i g
_h WJSA0 LS Al g R=120,0 Q) gl il
1 ” ,)_,) Gl o = 0,112 A g bos o) 1l p= 0 ) k) 61 o
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o PHY.6.2.02.020

300V

134V

654V

340V




Q.7: Electric Generator Mark(s): 4/4
AV AV The figure shows two graphs representing the
ind ind ‘ Crn ‘
induced potential difference as a function of
time for two generators.
Which of the following rows indicates the type
[\ of generator in the graphs?
» [ >

(b (@

Learning Outcomes Covered

o PHY.6.2.02.015

) 3 3 sy 52
2ing AT gl s S Gl (08
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(b)

(@)

A simple direct-current generator
e} LAl Jageiy Al ga

A simple alternating-current generator
228 el il by Al 5a

(b)

(@)

A simple direct-current generator
o radeal) Jlall Jasis 3 ga

A simple direct-current generator
L raad) il ey A e

(b)

(@)

A simple alternating-current generator
223 Al il by Al ga

A simple alternating-current generator
3 fall Al b A ga
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(@)

A simple alternating-current generator
3 el il daey Al 9a

A simple direct-current generator
coial) Jill by 3 g




Q.8: A single-loop circuit containing a capacitor and an inductor Mark(s): 4/4

The figure shows an LC cireuit. The capacitor is fully charged to = 8.0 uC
hefore the switch is closed. After the switch is closed, the maximum

S . current in the inductoris 5.0 mA,

LAAA Lg What is the inductance L of the inductor?
[t ) IV
- S 2 6] 42 = 8.0 pC o Gy il (ol 5 54 (S e

,- ol | el Janale, 5,0 A Conal b AL ol ) il il 361

§B/Physics/G12 advanced

Use the following constants and formulas when required / a b b &) cydad i s ‘
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o PHY.6.2.02.020

47.4 mH

256 mH

29.6 mH

12.5 mH




Q.9: Generators and Motors Mark(s): 4/4

Which of the following is correct about the generator and motors?

el g gl ol s g Laa

Learning Outcomes Covered

o PHY.6.1.02.064
o PHY.6.2.02.011

Generator that produces alternating voltages and Ll e S 53 i e L 133 | I
the resulting alternating current is also called an S S S et e 2 12 baga g5 A ...n;:\1

alternator.

Motors are applications of electromagnetic Lidas ol il gal) Lai oaalalibn g S0 iadl o Udat e S jaall
induction, but generators are not. rubalia g gl Cal) e
Generators contain loops in a magnetic field, but 5T 3 s aal) Ll kil Jlas Jals clila o (g giad Sl gal)
motors do not. bl Je

Motors transform kinetic energy into electric
energy.

Aol g Bl ) &8 ) ZB)  gad clS )




Q.10: Magnetic Flux Mark(s): 4/4

According to the figure, which of the following is corresponding
about magnetic flux from surface A?

A ) 0 g D 158 an (S o

$.B/Physics/G12 advanced

Lise the followina constants and formulas when required / s b b A & dad gl gl sl
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Q.11: Driven AC Circuits Mark(s): 4/4

“ | Alternating voltage and current for a single-loop cireuit
containing a source of time-varying emf and a component X ,
{fx -------- % | phasers representing voltage and current as shown in figure,
b= ¢ What is the name of component X?
ik
Al 0 A1 gl juma o g i Al § il g g
(e 0 S gl g e i X5l g () s il
X gyl pul o S 8
§.BIPhysics/G12 advancfed
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E Resistor poda
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Capacitor diga
d.

Capacitor and Inductor iaa g Liia




Q.12: Induced Electric Field Mark(s): 4/4

Which of the following formulas represents induced potential difference AV, .,

induced *

! Avmducedwi "Hﬂ wé “M uw &*"“ i ‘51
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o PHY.6.2.02.011
o PHY.6.2.02.012
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Q.13: Induced Potential Difference on a Wire Moving in a Magnetic Field Mark(s): 4/4

The conducting rod shown in the figure, is pulled horizontally through a uniform
magnetic field of 0.56T, with a constant velocity 4.2m/s, If the magnitude of
induced potential difference between the ends of the rod equals to 1.76V .

What s length of the rod?

4. o .56 o e i i 5 620 g il
1176V g o bl g (g G sl 8 1Y, 4 D 448
ol b Jiala

5.B/Physics/G12 advanced
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o PHY.6.2.02.012

0.75m

0.23m

13.2m

0.51m




Q.14: Self-Induction and Mutual Induction Mark(s): 4/4

Two similar circular coils carry equal currents in the same direction. When you move the two
coils apart, what happens to the magnitude of the current in each?

Giday 1ila lagudany (8 Vo Cplall &l jad dio oladd) (ki b g Gl gbuia G (D «(RMLATa (il il (il
flaga J8 (A AL gl L )akal

Learning Outcomes Covered

o PHY.6.2.02.012
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Q.15: Single-loop circuit with a source of emf, a resistor, and an inductor: Mark(s): 4/4

The current is increasing at a rate of 3.60 A/s, in an RL circuit with R, and L = 440 mH.
If the potential difference across the circuit is equal 12 V when the current in the circuit
is 3.00 A, what is resistance R in the circuit?

agall 58 S 1) L = 440 mH Saag R dagla o g gind Al R B0 8 3,60 A/s Janay Ll 2y
€5l A R A gliall jlaia La ¢ 300 A 5l A LA (s Latis 12 V3 ye

Use the following constants and formulas when required / s b b &) &ydad g 58

1, = 47107 Tm/A
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o PHY.6.2.02.020
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